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- Instructions to the cf""a;‘i?d‘idatgi;f;‘f
1) Answer or{Qi’m, 03 or 04, Q5 or Q6, Q70r 08, Q9 or Q10.
2) Ne%éf&gmmsmust be drawn wherever necessary.
3) Fg@uf@& tgm%??e right side indicate full marks.
p M
4) Assume-Suitable data if necessary.
Q1) a) Give the various data structures in ﬂledeslgnw of 2-pass macroprocessor. [6]
b) Define the following : [4]
i)  Assembler
1) Macroprocessor
i) Compiler X
iv) Loader/Linker( %“ o
L «%u
Q2) a)  With the structure explain the different tables that would be generated as
output of lexical analj‘?sis. d ) e [4]
b) What are the assembler directives? Explain how a§‘$@ble rdirectives
LTORG, ORIGIN, START, END and EQU are prqg{%‘%ed w%‘h examples.
iy X 3
N
R
g T
03) a) For the following piece of assembly langngge c-og%‘; show the contents

of symbol table, literal table and pool

e,

Ron” o Y . . .
‘{le/ Assuine size of instruction

equal to one. %M K&:. [6]
START 500 o
MULT BREG, A v
PTO.



MOVEM AREG , = ‘10’ L
LOOP MOVER AREG, A

MOVER CREGB

ADD CREG, =

SUB CRE

LTORQQ

ADD@REQB:"
NEXT SUB A.,&EG, =
§‘§*’OP N
;Momél%N 300
MULT CREG, B
ADS 1
BACK EQU LOOP NN
BDS I TS
b) Define loader and enlist mé~§§§ic fiinctions of loader. [4]
O ory
Q4) a) Explain the phases @f'%mpl,lé’f w.r.t the following statement : [8]
R = (b*b—4* a*c)/(Z*a) v:,,m_

b) Define the term forwand reference in an assembler. ,,,‘,,3 [2]

%‘%
oy

& °‘if‘:;<‘ 4

(74 &%%M j\{;
05) a) Consider the grammar PRy SN (8]

E - E-E e
E - E*E ANy
E —id {Q &f;ﬁ, =
Perform shift Reduce parsing of i/p strm& ;d 1;;1 id”

b) Explain LEX file structure. N/ ‘“'f-» [6]

¢) Compare bottom up and top down parser. * "

L
S

OR .~
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Q6) a) Consider the following grammar
S — iEtSS’/a

S’— eS/e .

E—>b mﬁ‘?“*

Design a table dnye“n pred;ctfve parser and parse the string ‘ibtae’. [8]
b)  Explain YACC. ﬁle strucﬁ;xre [5]
c) Witha neat?dlggram’éxplam the classification of parsers. [5]

m«asmx}‘s- e,

Q7) a) Deﬁne synthestzéd and inherited attributes. For the grammar given, [8]

«.m.oc

T ot ET’ e

T *E T’/G "

F~3 ﬂxglt :‘*’

Draw the annotated parse tree for the expressmn 3%5%2 and list down the
synthes1zed and inherited attributes. ~N "“%

b)  Write the following expression m ‘the form Df postfix notation, Directed
acyclic graph, quadruple and th‘pie 8]
a=b*(—)+b*(—=<) ";i‘% &

,f”"\i@OR
08) a) Draw the dependency &&pn for Lne example of 4]
b) Translate the follo»ign,g L &agment into the three address code.  [6]
int1,),k; o5 f \3:3
int T[S][100]; < N}
i=10;k mj—l?“f n, A
for (i=1;1i<=5;i++) ,,, g;j%“ w%&‘
{ o NV
TIi] [j]=k*k; Q" &
Jj+k giff S gt
Tl][j]=k*k-1; ﬁx
} ) 5

e
c) Whatis the need for intermediate code geqeration‘7

Explain the different IC forms with exampies [6]
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Q9) a) Optimize the following code (8]

i=1 :

=

t1=i * 80

t2=1*4 %}2?‘ 3

g+ D

umaigl

t5=ﬂ‘80 S

*“{%:1*4 m
\gﬁ/:t7=t.§j1=16

t8<4(t7] e
b) Wq% short note on activation record. | (4]
c) Explam in brief run time storage allocation.. “3 | (4]

OR\%‘ ;,.’: ﬂ:
Ql10)a) Generate three address code for %) [8]

while (a<c) and (b>(j) do )

{ O

If a =1 then c—cﬁl v

Else while (a<—d) do 4

A=atd . .'ﬂ \:Q
} J
Ny g
b) Explain different storage allocation strategies. _ AS‘?& N [4]
c) Explain various code generation issues. \; A ?} (4]
&
) O
&g
Corlrlrly o
W, ) ::;;
A
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